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$ ./test-compile.sh testcases/tqd.hs
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("Main.11.10.10.10.0K", [],Var (TermVar "Prelude.<=" ([IsIn "Prelude.Ord" (TGen 0)] :=> TAp (TAp (TCo
Kfun Star Star)))) (TGen 0)) (TAp (TAp (TCon (Tycon "(->)" (Kfun Star (Kfun Star Star)))) (TGen 0))
), [IsIn "Prelude.Ord" (TGen 0)],TAp (TAp (TCon (Tycon "(->)" (Kfun Star (Kfun Star Star)))) (TGen 0)
>)" (Kfun Star (Kfun Star Star)))) (TGen 0)) (TCon (Tycon "Bool" Star))),TAp (TAp (TCon (Tycon "(->)
)))) (TGen 0)) (TAp (TAp (TCon (Tycon "(->)" (Kfun Star (Kfun Star Star)))) (TGen 0)) (TCon (Tycon "
alse)
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